(A GOVERNMENT OF WEST BENGAL UNDERTAKING)

wbidc

"PROTITI", 23, Abanindranath Thakur Sarani (Camac Street), Kolkata-700017 Phone: + 91 33 2255 3700-705 Fax: + 91 33 2255 3737 Email : wbidc@wbidc.com Web : www.wbidc.com Corporate Identity Number: U75142WB1967SGC026988

NOTICE INVITING TENDER

Notice Inviting Tender no: - WBIDC / Protiti / Roof Repair/ 2018/2962

Date: 25.11.2020

Sealed Tenders are invited by the Managing Director, West Bengal Industrial Development Corporation from reputed and reliable contractor for the work **"Painting of Wall and Ceiling at Entrance of Basement in WBIDC, PRATITI Building,23, Abanindranath Thakur Sarani, (Camac street), Kolkata – 700017"** having following item of works.

SI No	Description of the Item	No or Qty	Unit	Estimated Rate (₹)	Amount (₹)
1	Protective and Decorative Acrylic exterior emulsion paint of approved quality, as per manufacturer's specification and as per direction of Engineer-in-Charge to be applied over acrylic primer as required. The rate includes cost of material, labour, scaffolding and all incidental charges but excluding the cost of primer. In Ground floor (Two Coat). a) Normal Acrylic Emulsion				
	Basement	403.00	Sq.m	67.00	27001.00
2	Applying Exterior grade Acrylic primer of approved quality and brand on plastered or cencrete surface old or new surface to receive decorative textured (matt finish) or smooth finish acrylic exterior emulsion paint including scraping and preparing the surface throughly, complete as per manufacturer's specification and as per direction of the EIC. In Ground Floor: (a) One Coat.				
	Basement	403.00	Sq.m	31.40	12654.20
3	Rendering the surface of walls and ceiling with white cement based wall putty of approved make and brand(1.5mm thick)	180.00	Sq.m	110.00	19800.00
4	Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary : (a) On steel or other metal surface: Two coats (white in shade)	40.00	Sq.m	77.00	3080.00



wbidc

"PROTITI", 23, Abanindranath Thakur Sarani (Camac Street), Kolkata-700017 Phone: + 91 33 2255 3700-705 Fax: + 91 33 2255 3737

Email : wbidc@wbidc.com Web : www.wbidc.com

Corporate Identity Number: U75142WB1967SGC026988

5	Priming one coat on steel or other metal surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc.	108.00	Sq.m	29.00	3132.00
6	Cleaning the walls and ceiling by scraping, sand papering and smoothening down the surface including putting.	220.00	Sq.m	17.00	3740.00
7	Painting with superior quality aluminium paint of approved make and brand including smoothening surface by sand papering etc. on steel surface : (a) Two coat	68.00	Mtr	57.00	3876.00
8	Making one set of scaffolding only for replacing glass panels, painting, uprooting plant and another repairing works of building and S&P works for external works only with 10 cm. dia bamboo as main posts at the rate of 1 metre centre to centre and 7.5 cm. dia bamboo ties @ 0.75 metre apart fitting and fixing with necessary coir, nails etc. as per direction of the Engineer-incharge.				
	a) 3.90 metre height	4.00	Each	279.00	1116.00
	b) Extra for additional 3.6 height or part thereof.	4.00	Each	244.51	978.04
	c) Shifting scaffolding.	27.00	Each	27.88	752.76
	d) Lift of scaffolding.	28.00	Each	24.50	686.00
TOTA	TOTAL (Excluding GST and LWC)				

Rupees in wards:-

Date of publication of tender:	25/11/2020 by 10.00A.M, in office notice board.
Bid submission start date:	26/11/2020 by 12.00 noon onward up to 4:00 P.M. every day only on working days.
Last date of submission of bid:	04/12/2020 by 1.00P.M
Date of opening of quotation:	07/12/2020 at 2.00PM.



(A GOVERNMENT OF WEST BENGAL UNDERTAKING)

"PROTITI", 23, Abanindranath Thakur Sarani (Camac Street), Kolkata-700017 Phone: + 91 33 2255 3700-705 Fax: + 91 33 2255 3737 Email : wbidc@wbidc.com Web : www.wbidc.com Corporate Identity Number: U75142WB1967SGC026988

Terms and Conditions.

1. The quotation to be submitted in sealed envelope in the drop box kept in the office of WBIDC i.e PRATITI Building, 23, Abanindranath Thakur Sarani, (Camac street), Kolkata – 700017. The envelop should be superscribed as "Quotation for Painting of Wall and Ceiling at Entrance of Basement in WBIDC, PRATITI Building, 23, Abanindranath Thakur Sarani, (Camac street), Kolkata – 700017" and should contain the name and address of the quotationer.

2. The quotationer will have to submit the following documents along with the quotation.

a) Self –attested photo copy of valid GST registration certificate.

- b) Self-attested photocopy of valid trade license.
- c) Self-attested photocopy of PAN card.
- d) Credentials of execution of same kind of work.
- e) Scan copy of RTGS/ NEFT detail of performance security deposit.

Quotations received without the above mentioned documents will be summarily rejected.

3) The bidder quoting the lowest rates, if all other conditions are satisfied, may be issued to work contract.

4. The quoted price should be excluding of **GST** as applicable. **GST** will be paid separately.

5. No mobilization charges shall be considered against the above work either separately or inclusive with the quoted rate.

6. The work, mentioned above, to be completed successfully and full satisfaction of the departmental engineer within **30**(thirty) days from the date of issuance of work order, and the **Defect Liability Period** for this work is **180** days after completion of this work in all respect.

7. Other Statutory deduction towards IT etc. or as applicable will be deducted from the bill / bills.

8. Payment will be made only after successful completion of the work in all respect.

9. All payment will be made in account payee cheque / direct bank transfer only.

10. The participant in the quotation process may remain present personally or may send their authorized representative during opening of their quotations.



(A GOVERNMENT OF WEST BENGAL UNDERTAKING)

"PROTITI", 23, Abanindranath Thakur Sarani (Camac Street), Kolkata-700017

Phone: + 91 33 2255 3700-705 Fax: + 91 33 2255 3737 Email : wbidc@wbidc.com Web : www.wbidc.com Corporate Identity Number: U75142WB1967SGC026988

11. Submission of quotation will imply that the quotationer will abide by all the terms and conditions of this "Notice Inviting Tender".

12. Contractor shall have to arrange all materials and machineries required for the job. No material will be issued by the department.

13. The bidder/ quotationer will sign on every page of N.I.T as a token of acceptance of the terms and condition.

14. Conditional quotation will not be accepted and shall be deemed as "informal"

15. In case of any dispute arise during execution of the work or after completion of the work, Managing Director, WBIDCL reserves the right to accept / cancel/ change/ modify this notice completely or partially without giving any notice to anybody.

Performance security/ Security deposit: ₹ 7,700/-

Mode of payment: RTGS or NEFT				
Account details- Account Name:	WEST BENGAL INDUSTRIAL DEVELOPMENT			
	CORPORATION LIMITED			
Account Number:	011010200021340			
Bank's Name :	Axis Bank Limited.			
Branch Name :	Golpark, Kolkata-19.			
IFS Code :	UTIB0000011			

By order,

Managing Director WBIDC



(A GOVERNMENT OF WEST BENGAL UNDERTAKING)

"PROTITI", 23, Abanindranath Thakur Sarani (Camac Street), Kolkata-700017

Phone: + 91 33 2255 3700-705 Fax: + 91 33 2255 3737 Email : wbidc@wbidc.com Web : www.wbidc.com Corporate Identity Number: U75142WB1967SGC026988

Name, Address, Contact No. of Bidder (Filled by the bidder):

ANNEXTURE.

Schedule for the work **"Painting of Wall and Ceiling at Entrance of Basement in WBIDC, PRATITI** Building,23, Abanindranath Thakur Sarani, (Camac street), Kolkata – 700017"

Ref: - N. I. T. No. WBIDC / Protiti / Roof Repair/ 2018/2962

Date: 25.11.2020

SI no	Name of the Work.	Quantity.	Rate to be quoted in percentage over the estimated amount (in figure)	Rate to be quoted in percentage over the estimated amount (in words)
1.	Painting of Wall and Ceiling at Entrance of Basement in WBIDC, PRATITI Building,23, Abanindranath Thakur Sarani, (Camac street), Kolkata – 700017	One complete item of work consisting item no. 1 to 8 of priced schedule.		

Rupees in words(For office use only):-

Name with signature and seal by the quotationer

Managing Director WBIDC